UNIT- 3 Addition

Class- 1
Q1- How many Altogether?
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3 Stars and 2 stars are equal to stars.
U 0.0 W
2 glasses and 2 glasses are equal to glasses
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6 flowers and 3 flowers are equal to flowers
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2 ducks and 4 ducks are equal to ducks
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6 candles and 4 candles are equal to candles

Q2- Add the numbers

a) 9+2=__ e) 1+7=___
b) 7+7=__ f) 1+46

c) 0+6=___ g) 11+ 5=__
d 7+0=___ h) 10+10=__

Q3- Add in columns.
a) 5 b)8 ¢)11 d) 10 e) 2 f) 20

+ 4 + 0 , 2 + 11 + 0 + 8




Q4- Write the Missing numbers.

A)5+ =7 G)5+_ =10
B)  _+ 3=5 Hy1+ =3

) _  +0=1 ) +9=13

D)4+ =6 Ho+12=__
E) 6+ =9 h)  +15=20
F) 0+__ =4

Q5- Rani has 8 mangoes. And radha has 5 mangoes. How many mangoes do they have
altogether?

Q6- Write the number names from (one to fifty)
Q7- Addition Story Sums
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How many in all?

How many pups in all?

c) Seema has 6 flowers %/ & &) S) ) anu

Puts in 4 more o= = how many flowers now?

Q8- Write the backward counting from (50to 1)



